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SECTION A: MULTIPLE-CHOICE QUESTIONS

This section consists of 40 multiple choice questions. Use the mark-reading sheet
provided to indicate your answers.

1. Indicate the correct statement.

Risk relates to the environment surrounding the cause of loss.

Risk implies the presence of certainty.

The probability of an event refers to its long-term frequency of occurrence.
Uncertainty arises from a person’s perfect state of knowledge about future events.

bW —

2. Motorcar accidents are an example of subjective uncertainty. Which of the following
characternstics best describes subjective uncertainty?

1 Qutcomes can be predicted with precision.

2 Outcomes are identified and probabilities are known.

3 Outcomes are identified but probabilities are unknown.

4  Qutcomes are not fully iIdentified and probabilities are unknown.

Answer the next three questions by making use of the following information:

Asset A
Possible outcomes Probability Returns (%)
Pessimistic 0.25 5
Most likely 055 10
Optimistic 020 13

3. The expected value for AssetAis ...

1 10%

2 9.33%
3 9.35%
4 9.38%

4 The standard deviation of returns 1s .

8%
7%
4.68%
2.76%

BwWn =

5. The coefficient of vanation for Asset A s ...

1.25%
2.15%
2.0%
0.3%

B WN -
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The possibility of loss of an enterprise’s plant and equipment due to a fire 1s an
example of a/an ... nsk

speculative
resource
incidental
event

HOWON =

Indicate the correct statement.

Speculative risks may be treated by techniques such as hedging.

Core business rnisks impact indirectly on an organisation’s operating profit.
Event rnisks are inherent to the organisation’s main business.
Unsystematic nsk stems from occurrences which affect the economy as a
whole.

B WM —

Which of the following I1s an example of systems risk?

1 Fraud and thett

2  Security breaches
3  Negligent staff

4  Stock pilfering

In corporate governance, which of the following interventions resulted from the Enron
scandal?

The Turnbull Committee
The Higgs Report

The Sarbanes-Oxley Act
The King Commiitee

BWN =

Effective corporate governance ...

promotes the inefficient use of resources
attracts higher cost capital

retards overall performance

ensures adherence to legislation

P OPN

Thabo has just been named the Risk Manager of Tsalanang Company. He has
decided to create a risk management program which takes into account all of the risks
faced by Tsalanang - pure, speculative, operational and strategic - into a single rnisk
management program. This an example of a/an .... risk management approach.

1 business
2 traditional
3 enterprise
4 financial

fTURN OVER]



4 MNK203R
October/November 2011

12. Which of the following evolving tools enable enterprises to ensure that returns are
adequate for the risk undertaken and that capital 1s allocated optimally?

Risk-adjusted return on capital (RAROC)
Alternative nsk transfer (ART)
Enterprise nsk management (ERM)
Value added tax (VAT)

WM -

13 Which of the following are important drivers towards an enterprise risk management
approach?

a Decline of insurance

b  Development of ART

¢ Increased value of intangible assets
d Increased concentration of risk

Choose the correct combination

(=2

d

p oo

c
d
,d
d

BWN
o
T o0

14. Which of the following are benefits of enterprise risk management?

Increased organisational effectiveness
Better risk reporting

Enhanced business performance
Increased value of tangible assets

Qa0 oo

Choose the correct combination

15. Which of the following methods can be used to identify the risks that shouid be
included in an organisation’s common language framework?

1 Internal interviewing
2 Hedging

3 Documenting

4 Insurance reviews
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17.
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20.
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In a generic oversight structure, the chief risk officer (CRO) is responsible for...
1 defining the enterprise’s nsk priorities
2 allocating resources/capital and managing risk/return
3 ensuring that risks are managed efficiently
4 overseeing the business risk management function
Which of the following nsk identification methods concentrates on ascertaining all the

possible combination of faillures that can lead to the ultimate risk such as a boiler
exploding?

1 Failure mode analysis

2 Fault tree analysis

3 Flow charts

4 Hazard and operability studies

By studying organisational charts, the nsk manager will be able to...

identify key personnel

identify supplier risk

assess the extent to which control I1s centralised or decentralised

assess the degree of autonomy given to managers at different levels of autonomy

ooow

Choose the correct combination.

d

c
c
., d
d

)

AWM =
oo P
O 0O0oco

In addition to the past claims history, which one of the following 1s considered in order
to establish the potential frequency of losses?

1 Accumulation

2 As-if analysis

3 Incident reporting
4 Asset value

Sometimes the best method of handling or treating rnsk 1s to try and avoid the nsk
This 1s particularly relevant to. .

1 Type 1 losses
2 Type 2 losses
3 Type 3 losses
4 Type 4 losses
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Which one of the following 1s an example of nisk transfer?

1 Qutsourcing cleaning services

2 Insuring the fleet of vehicles

3 Having a back-up facility at a distant location
4 Erecting a secunty wall around the property

Indicate the correct statement

1 Hedging tends to reduce nisk as well as profits.

2 A cali option 1s the right to sell an asset.

3 A put option i1s the right to buy an asset

4 An option contract is an obligation to buy or sell an asset.

The value of a put option at expiry, in simple mathematical terms, can be stated as...

1 §-X
2 X-8
3 X+P
4 X-P

Forward contracts are...

1 traded on a formal exchange

2 less expensive than futures contracts

3 easy 1o get out of once they have been established

4 customised to meet the precise needs of contracting parties

Which one of the following statements Is true about a rate cap?

1 It limits how far the loan rate can be adjusted downward by the lender if market
rates decrease.

2 It Iimits how far the loan rate can be adjusted upward by the lender if market
rates increase.

3 ltis used to hedge or modify an existing asset or liability.

4 Both the lender and the borrower are protected against rising rates

Indicate the correct statement about forward rate agreements (FRAs).

1 If the current rate 1s higher than the agreement rate, the buyer will receive the
interest differential determined over the life of the loan.

2 If the current rate i1s lower than the agreement rate, the buyer will receive the
Iinterest differential from the seller.

3 Annvestor of funds seeking protection from falling interest rates will buy an FRA.

4 An investor of funds seeking protection from rising interest rates will sell an FRA
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Answer questions 27 to 29 by making use of the following information:
An organisation uses short-term finance by issuing bankers’ acceptances. The treasurer

expects short-term interest rates to nise and wants to hedge the next BA-rollover by buying
an FRA at 15,5%. Assume the following applies:

Nominal amount R1 000000
Rollover date 15 August
Settlement date 15 Apnil
Spot rate on 15 August 18, 5%

FRA spot (bid/offer) 15, 0/15, 5%
Number of days in the year 365

The treasurer wants to hedge the next rollover by buying a forward rate agreement (FRA)
at 15, 5%

27. The cost (discount) of 1Issuing the BA 1s ...
1 R60 821, 92
2 R45616, 43
3 Rb0958,90
4 R38219,18

28 How much will the company have to receive In order to lock in a discount rate of

15.56%7?

1 R7397,26
2 R8630, 14
3 R9863,01
4 R11506, 85

29. Calculate the cost of the roll-over to the company (holder of the FRA).

1 R38 219, 18
2 R49 315,07
3  R50 958, 91
4 R53424,66

30 Which one of the following i1s responsible for articulating and communicating an
enterprise’s nsk appetite to different constituencies?

Methodologies

Limits and controls
Volume or notional mits
Risk-sensitivity limits

BWhN =
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Which one of the following 1s a risk reporting objective of the enterprise-wide reporting
framework?

1 Heighten awareness and transparency of alf nsks.

2  Exclude quantitative and qualitative information

3  Comphance with relevant laws and regulations.

4  Effectiveness and efficiency of the organisation’s operations

Which one of the following 1s an enabler of the continuous improvement phiiosophy?

1 Identifying new or changing risks

2  Developing a more accurate portrait of risk

3  Detecting future threats and opportunities timeously

4  Benchmarking of performance to identify best practices

Monitoring processes are generally applied to. .

1 keep up to date with regulatory requirements

2  determine changes in an enterprise’s risk profile

3  demonstrate management leadership

4  foster an environment that motivates people to learn

Which of the following is a risk-pooling approach?

1 Managing the pooled risks as a portfolio

2  Insure each rnisk separately

3  Hedge based on single index

4  Combine risks with high or positive correlations

Which of the following I1s a method of monitoring a rnisk management process?
1 Internal audits

2  Insurances reviews

3  Statutory records

4 Fault tree analysis

Indicate the correct statement.

—

Hurdle rates facilitate the allocation of capital based on risk.

2  Ruisk exposures can be quantified using techniques such as VaR.

3  “Atnsk” frameworks are used to screen capital projects when using discounted
cash flow techniques.

4  Cash flow at nsk is an attempt to provide a single number which summanses the

total nsk in a portfolio of financial assets
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37. Central bank regulators use ... to determine the capital a bank is required to keep to
reflect the market risk it 1s bearing.

1
2
3
4

Earnings at nsk

Value at risk

Cash flow at risk
Risk-adjusted return on capital

38. Indicate the correct statement.

1
2

3

4

Capacity represents the risk the enterprise i1s capable of undertaking.

Risk appetite dictates the nature and level of risks that are unacceptable to the
enterprise.

Determining an enterprise’s capacity and appetite for risk impedes the effective
allocation of capital

Aggregation methods provide a qualitative means to transfer, avoid and
securitise risk.

39 Indicate the correct statement.

1
2
3

4

Aggregation methods provide a qualitative means to transfer, avoid and
securitise nsk

Aggregation Is a way to summarise an extremely simple set of rules.

Risks of which the mutual relationships are not known are pooled in order to
manage them better.

Aggregation of multiple nsks improves reporting and capital allocation.

40. Indicate the correct statement.

1
2
3
4

It 1s more cost-effective to manage individual nsks.

The transaction cost of pooled risk is higher than that of individual nisk.
An aggregate index can be used with the hedging of pooled nisks.

It is more cost effective to insure individual than pooled risks.

[40 X 1 = 40 marks]
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SECTION B: PARAGRAPH QUESTIONS AND CALCULATIONS
ANSWER ALL THE QUESTIONS IN THIS SECTION
Question 1 (10 marks)
1.1 Discuss two basic properties of probabilities. 4
1.2 Briefly describe each of the following types of risk:
1.2.1 Interest rate risk 2
12.2 Investment nsk 2
1.2.3 Liguidity nsk 2
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Question 2 (10 marks)
2.1 Explain how the concepts Maximum Possible Loss and Normal Loss Expectancy
can be used to determine the severity of possible losses. 4

The shortcomings of systems are underlying nisk factors of operational risk,

2.1.1 List six typical system risks 3
2.1.2 Suggest three proactive measures that can be implemented to control typical
3

technology risk exposures.
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Question 3 (10 marks)

A six-month American call option is written on a commodity at a strike price (X) of R78. The
option premium is R0.30. The market price (S) at the time the option was written was R68.25.
Four months after the option is written the market price of the commodity nses to R78 75.

3.1 Draw a graph of the payment profile for the call option buyer. 6

3.2 Point out the implications of exercising the option at the current market price. 4

[3 x 10 = 30 marks]
TOTAL MARKS: 70
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DO YOUR ROUGH WORK HERE.
NO ROUGH WORK WILL BE MARKED.
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DO YOUR ROUGH WORK HERE.
NO ROUGH WORK WILL BE MARKED.
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